## **Bid Comparison**

**Contract ID:** 95-W50292

**Description:** Storm Sewer Replacement

Location:

Nichols Rd North of Lake Road Montrose Twp

Projects(s):

95-W50292

Rank	Bidder	Total Bid	% Over Low	% Over Est.
0	ENGINEER'S ESTIMATE	\$212,525.00	4.61%	0.00%
1	(01415) Rohde Bros. Excavating, Inc.	\$203,143.00	0.00%	-4.41%
2	(08797) Wonsey Tree Service, Inc.	\$216,490.00	6.57%	1.86%
3	(02985) Zito Construction	\$257,153.00	26.58%	20.99%
4	(_292020) Joe Raica Excavating, Inc.	\$515,020.00	153.52%	142.33%

Contract # 95-W50292 (Nichols Rd North of Lake Road Montrose Twp) MERL: 2017.9.0

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S E	ESTIMATE	(1) Rohde Bros. Exc	cavating, Inc.	(2) Wonsey Tree Se	ervice, Inc.
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 2030001	10	Ea	\$300.00	\$3,000.00	\$200.00	\$2,000.00	\$400.00	\$4,000.00
Culv, Rem, Less than 24 inch								
0002 2030002	1	Ea	\$350.00	\$350.00	\$500.00	\$500.00	\$800.00	\$800.00
Culv, Rem, 24 inch to 48 inch								
0003 2030011	5	Ea	\$350.00	\$1,750.00	\$300.00	\$1,500.00	\$500.00	\$2,500.00
Dr Structure, Rem								
0004 2030015	1,915	Ft	\$15.00	\$28,725.00	\$3.00	\$5,745.00	\$8.00	\$15,320.00
Sewer, Rem, Less than 24 inch								
0005 2047011	254	Syd	\$20.00	\$5,080.00	\$10.00	\$2,540.00	\$20.00	\$5,080.00
_ Pavt, Rem, Modified								
0006 2050010	45	Cyd	\$5.00	\$225.00	\$18.00	\$810.00	\$30.00	\$1,350.00
Embankment, CIP								
0007 2050016	935	Cyd	\$10.00	\$9,350.00	\$6.00	\$5,610.00	\$15.00	\$14,025.00
Excavation, Earth								
0008 2080020	5	Ea	\$100.00	\$500.00	\$90.00	\$450.00	\$200.00	\$1,000.00
Erosion Control, Inlet Protection, F	abric Drop							
0009 2080036	100	Ft	\$2.00	\$200.00	\$2.00	\$200.00	\$6.00	\$600.00
Erosion Control, Silt Fence								
0010 3027031	67	Ton	\$30.00	\$2,010.00	\$25.00	\$1,675.00	\$30.00	\$2,010.00
_ Approach, Cl II, Modified								
0011 3027031	50	Ton	\$30.00	\$1,500.00	\$25.00	\$1,250.00	\$30.00	\$1,500.00
_ Maintenance Gravel, Modified								
0012 3027031	262	Ton	\$30.00	\$7,860.00	\$25.00	\$6,550.00	\$30.00	\$7,860.00
_ Shoulder, Cl II, Modified								
0013 4010607	190	Ft	\$40.00	\$7,600.00	\$40.00	\$7,600.00	\$37.00	\$7,030.00
Culv, Cl F, 12 inch								
0014 4020004	48	Ft	\$40.00	\$1,920.00	\$40.00	\$1,920.00	\$45.00	\$2,160.00
Sewer, Cl A, 12 inch, Tr Det A								
0015 4020006	1,865	Ft	\$45.00	\$83,925.00	\$50.00	\$93,250.00	\$41.00	\$76,465.00
Sewer, Cl A, 18 inch, Tr Det A								
0016 4020035	48	Ft	\$60.00	\$2,880.00	\$90.00	\$4,320.00	\$45.00	\$2,160.00
Sewer, Cl A, 18 inch, Tr Det B								

Line Pay Item Code	Quantity	Units	(0) ENGINEER'S ESTIMATE		(1) Rohde Bros. Excavating, Inc.		(2) Wonsey Tree Service, Inc.	
Description			Bid Price	Total	Bid Price	Total	Bid Price	Tota
0017 4030010	2	Ea	\$750.00	\$1,500.00	\$600.00	\$1,200.00	\$700.00	\$1,400.00
Dr Structure Cover, Type B								
0018 4030040	3	Ea	\$750.00	\$2,250.00	\$500.00	\$1,500.00	\$500.00	\$1,500.00
Dr Structure Cover, Type G								
0019 4030210	5	Ea	\$1,800.00	\$9,000.00	\$2,200.00	\$11,000.00	\$2,000.00	\$10,000.00
Dr Structure, 48 inch dia								
0020 5010025	35	Ton	\$150.00	\$5,250.00	\$230.00	\$8,050.00	\$300.00	\$10,500.00
Hand Patching								
0021 5017011	146	Syd	\$60.00	\$8,760.00	\$80.00	\$11,680.00	\$90.00	\$13,140.00
_ HMA Residential Approach								
0022 8017011	38	Syd	\$60.00	\$2,280.00	\$80.00	\$3,040.00	\$85.00	\$3,230.00
_ Conc Residential Approach								
0023 8127051	1	LSUM	\$10,000.00	\$10,000.00	\$18,263.00	\$18,263.00	\$15,000.00	\$15,000.00
_ Maintaining Traffic								
0024 8140005	25	Syd	\$50.00	\$1,250.00	\$90.00	\$2,250.00	\$100.00	\$2,500.00
Ditch, Plain Cobble								
0025 8167011	2,560	Syd	\$6.00	\$15,360.00	\$4.00	\$10,240.00	\$6.00	\$15,360.00
_ Turf Establishment, Performance								
Bid Totals:				\$212,525.00		\$203,143.00	-	\$216,490.00

Line Pay Item Code	Quantity	Units	(3) Zito Construction	n	(4) Joe Raica Exca	vating Inc		
Description			Bid Price	Total	Bid Price	Total	Bid Price	Total
0001 2030001	10	Ea	\$210.00	\$2,100.00	\$300.00	\$3,000.00		\$0.00
Culv, Rem, Less than 24 inch								
0002 2030002	1	Ea	\$500.00	\$500.00	\$500.00	\$500.00		\$0.00
Culv, Rem, 24 inch to 48 inch								
0003 2030011	5	Ea	\$330.00	\$1,650.00	\$500.00	\$2,500.00		\$0.00
Dr Structure, Rem								
0004 2030015	1,915	Ft	\$12.00	\$22,980.00	\$20.00	\$38,300.00		\$0.00
Sewer, Rem, Less than 24 inch								
0005 2047011	254	Syd	\$16.00	\$4,064.00	\$45.00	\$11,430.00		\$0.00
_ Pavt, Rem, Modified								
0006 2050010	45	Cyd	\$30.00	\$1,350.00	\$50.00	\$2,250.00		\$0.00
Embankment, CIP								
0007 2050016	935	Cyd	\$24.00	\$22,440.00	\$50.00	\$46,750.00		\$0.00
Excavation, Earth								
0008 2080020	5	Ea	\$70.00	\$350.00	\$150.00	\$750.00		\$0.00
Erosion Control, Inlet Protection, Fa	abric Drop							
0009 2080036	100	Ft	\$2.00	\$200.00	\$4.00	\$400.00		\$0.00
Erosion Control, Silt Fence								
0010 3027031	67	Ton	\$40.00	\$2,680.00	\$80.00	\$5,360.00		\$0.00
_ Approach, Cl II, Modified								
0011 3027031	50	Ton	\$40.00	\$2,000.00	\$40.00	\$2,000.00		\$0.00
_ Maintenance Gravel, Modified								
0012 3027031	262	Ton	\$40.00	\$10,480.00	\$80.00	\$20,960.00		\$0.00
_ Shoulder, Cl II, Modified								
0013 4010607	190	Ft	\$44.00	\$8,360.00	\$50.00	\$9,500.00		\$0.00
Culv, Cl F, 12 inch								
0014 4020004	48	Ft	\$44.00	\$2,112.00	\$115.00	\$5,520.00		\$0.00
Sewer, Cl A, 12 inch, Tr Det A								
0015 4020006	1,865	Ft	\$59.00	\$110,035.00	\$125.00	\$233,125.00		\$0.00
Sewer, Cl A, 18 inch, Tr Det A								
0016 4020035	48	Ft	\$80.00	\$3,840.00	\$135.00	\$6,480.00		\$0.00
Sewer, Cl A, 18 inch, Tr Det B								

2	Ea	<b>Bid Price</b> \$500.00	Total	Bid Price	Total	Bid Price	Total
	Ea	\$500.00	44.000.00		. • •••	Diarrice	Total
		'	\$1,000.00	\$900.00	\$1,800.00		\$0.00
3	Ea	\$400.00	\$1,200.00	\$900.00	\$2,700.00		\$0.00
5	Ea	\$1,830.00	\$9,150.00	\$5,000.00	\$25,000.00		\$0.00
35	Ton	\$228.00	\$7,980.00	\$450.00	\$15,750.00		\$0.00
146	Syd	\$62.00	\$9,052.00	\$200.00	\$29,200.00		\$0.00
38	Syd	\$85.00	\$3,230.00	\$150.00	\$5,700.00		\$0.00
1	LSUM	\$16,000.00	\$16,000.00	\$25,000.00	\$25,000.00		\$0.00
25	Syd	\$64.00	\$1,600.00	\$125.00	\$3,125.00		\$0.00
2,560	Syd	\$5.00	\$12,800.00	\$7.00	\$17,920.00		\$0.00
			\$257,153.00		\$515,020.00		
	5 35 146 38 1 25	5 Ea  35 Ton  146 Syd  38 Syd  1 LSUM  25 Syd	5       Ea       \$1,830.00         35       Ton       \$228.00         146       Syd       \$62.00         38       Syd       \$85.00         1       LSUM       \$16,000.00         25       Syd       \$64.00         2,560       Syd       \$5.00	5 Ea \$1,830.00 \$9,150.00  35 Ton \$228.00 \$7,980.00  146 Syd \$62.00 \$9,052.00  38 Syd \$85.00 \$3,230.00  1 LSUM \$16,000.00 \$16,000.00  25 Syd \$64.00 \$1,600.00	5 Ea       \$1,830.00       \$9,150.00       \$5,000.00         35 Ton       \$228.00       \$7,980.00       \$450.00         146 Syd       \$62.00       \$9,052.00       \$200.00         38 Syd       \$85.00       \$3,230.00       \$150.00         1 LSUM       \$16,000.00       \$16,000.00       \$25,000.00         25 Syd       \$64.00       \$1,600.00       \$125.00         2,560 Syd       \$5.00       \$12,800.00       \$7.00	5 Ea       \$1,830.00       \$9,150.00       \$5,000.00       \$25,000.00         35 Ton       \$228.00       \$7,980.00       \$450.00       \$15,750.00         146 Syd       \$62.00       \$9,052.00       \$200.00       \$29,200.00         38 Syd       \$85.00       \$3,230.00       \$150.00       \$5,700.00         1 LSUM       \$16,000.00       \$16,000.00       \$25,000.00       \$25,000.00         25 Syd       \$64.00       \$1,600.00       \$125.00       \$3,125.00         2,560 Syd       \$5.00       \$12,800.00       \$7.00       \$17,920.00	5 Ea       \$1,830.00       \$9,150.00       \$5,000.00       \$25,000.00         35 Ton       \$228.00       \$7,980.00       \$450.00       \$15,750.00         146 Syd       \$62.00       \$9,052.00       \$200.00       \$29,200.00         38 Syd       \$85.00       \$3,230.00       \$150.00       \$5,700.00         1 LSUM       \$16,000.00       \$16,000.00       \$25,000.00       \$25,000.00         25 Syd       \$64.00       \$1,600.00       \$125.00       \$3,125.00         2,560 Syd       \$5.00       \$12,800.00       \$7.00       \$17,920.00